
 

 

Answer on Question #63215 - Chemistry - General Chemistry 

What's the concentration (in molarity) of a sodium hydroxide solution containing 120 grams 

of NaOH in a total volume of 1200 mL? (Remember there are 1000 mL in 1 L!) 

 

Molarity problem, so get our your periodic table and use the equation: 

 

Molarity = moles of solute / Liters of solution 

 

A. 

2.5 M 

 

B. 

400 M 

 

C. 

0.4 M 

 

D. 

0.0025 M 

 

Solution 

𝝂(𝑵𝒂𝑶𝑯) =
𝝂(𝑵𝒂𝑶𝑯)

𝑽
=

𝒎(𝑵𝒂𝑶𝑯)

𝑴(𝑵𝒂𝑶𝑯) × 𝑽
=

𝟏𝟐𝟎𝒈

𝟒𝟎
𝒈

𝒎𝒐𝒍
 × 𝟏. 𝟐 𝑳

= 𝟐. 𝟓
𝒎𝒐𝒍

𝑳
= 𝟐. 𝟓𝑴 

 

 

Answer: A. 2.5M 
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